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Translate and simplify: Six minus the difference between three
times a number and ten.

a. lé6+3n b. 4+43n c. 16-3n d. -4-3n e. =16-3n

A line has a slope of‘%@fcr a pair of points on the line. Find
the missing coordinate 1f the points are (-1,y) and (4,7):

a. 10 % b. -9 c. 14 1. a. -11 - e. 3 2
3 2 2 3

5n+n = 5n+ln illustrates what property?

Reflexive property of equality
Identity of addition

Identity of multiplication
Commutative property of addition
Symmetric property of equality

O A0 T

Evaluate the function f(x)=-x2+2x~3 at x = =5,

a. -18 b. 32 c. 12 d. -38 e. -3

If n is an integer and n<0, which is always true?

a. -2n < n2 b. n-5 < 5-n c. n+d4 < 4+n
2

d. n-3 < 3n e. n° > 2+n

If 5x~2 is an odd integer, what is the next consecutive
odd integer?

a. b5x b, 5x-3 c. 5Hx+1 d. 5x-4 e, bx-1

Write -2x+6y=~4 in slope-intercept form.

a. 2x-6y-4=( b. y = - Ex + 2 C. -y = &x + 2
3 3 3 3
d. y = ix + i g. y = Ix - 3
3 3 3 3

If m@Ec is defined as 3m2+c2+5mc, what is the value of ~-1(-3?

a. 24 b, 3 c. =3 d. 27 e. 27



List all statements which are true from the following group:

1. J35 is both irrational and real.
2. 64 is a rational number.
3. No real number is both a whole number and an integer.
4, —ii is rational and real.
4

5. No real number is both rational and irrational.

a. 2,3,5, b. 1,3,4 c. 1,2,3,4 d. 2,4,5 e. 1,2,4,5

Simplify: 5 — 30[-3 -(-d4)]% = 15

a. =93 b. 3 c. =55 d. =25 e. -—-45

[6x-5| > 10 is valid for:

nco real number x

Xx > 5/6 or x < =-2.5
-2.5 < x < 5/6

-5/6 ¢ x < 2.5

x > 2.5 or x ¢ ~5/6

® Qo T

The solution for 5(1+2x) = 125(x~l) is xe=

a. 2/3 b. 3/5 c. 3 d. 4 e. 1

The simpliest form for [?é_al/zb3x~3/;]2 is:
Zax4 J

a.  4b° b. 4ab® c. 4p’ d. 4pPx1l
ax5 Xll axll a
e. 4a_1b6

xll

The simpliest form for:\/ixsyloz8 \ﬂalxzytlz4 \j256x8 is:

a. 12x4y625 b. 124y626 c. 6x4y626
d. 24x4y626 e. \’12 x4y626
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15. Which expression represents the distance between (x,y) and

(~-4,3})7
a. 5 b, 1 c. \[(x~3)2 + (y+4)2
d. \[(x—4)2 v (y+3)2 e.  (x+1)? 4 (y-3)2

16. A car radiator which holds & gallons is filled with a mixture
of 30% antifreeze and 70% water. How much of this mixture should
be drained and replaced with pure (100%) antifreeze so that the
radiator will be filled with a mixture which is 70% antifreeze and

30% water?

a. 2.14 gal. b. 2.86 gal. c¢. & gal. d. 4 gal. e. 1.5 gal.

17. All of these are true for exponents except:

m _n m+n m,n mn m n m-n
. = 3 b. )T = . .

18. The slope of the line passing through the point (3,-5) and
having the equation 4x-ky+5 =0 is:

a. ~17/5 b. 3 2/5 c. -20/17 d. 20/17 e. -4/5

19. The graph which shows the solution for the inequality
6 -~ x > 4 is:

“ =i e

“& ~1 0O

20. The solution for the system 3(x+4)-2y = 6 is the ordered pair
(XJY) = 71{—3(}["‘2) 2

a. (=2,6) b, (2,-6) c. (6,2) d, (-6,-2} e. (2,6)



21.

22.

23.

24.

25.

6.

27.

28.

4 475 - 3427 + 2 4125 =

a. 2145 b. 3045 - 943 c. 1045 - 943
d. 11V3 + 10yF e. 212
The expression 2 J2 simplifies to:

NERIN
a. 2¢ J3'+ JE) b. Jjg +-J§ c. = JIE‘+ \ﬁﬂ

a. J1o -Js e. 2

One bus leaves city A at 10:30 A.M. and travels toward city B

at a rate of 50 miles/hr. Another bus leaves city B for city A

at 12:00 P.M. and travels at 60 miles/hr. If they pass each
other at 2:30 P.M. how far is it from city A to city B?

a. 150 miles b, 200 miles c. 350 miles
d. 400 miles e. 450 miles

Combine terms where possible in the following polynomial.
Give the degree of the polynomial: , 2 3 , .

a. -4 b. -4x C. 3 d. 2 e. 1

Combine terms where possible in the following expression and select the most specitic

description: 11x3-x2axdipdogy2

a. monomial b. binomial c. trinomial d. pentanomial e. ethylnomial

Add or subtract as indicated. -(y®-5y-3) + (3y%+2y) - (y-1)
a. 2y2+6y-4 b. —4y2+2y+4 c. 2y2—2y—4

d. 4y?-2y-4 e. 2y°+6y+d

What is the coefficient of k in the product (3k-6)(2k+1)?

a. 3 b, -9 c. 2 d. 6 e, -6

One factor of x3+x2~5x+3 is:

a. (x=-3) b, {x+1) c. X d. (x~5) e. (x+3)
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29  With formula Sz180(n-2)/n,soIve for n.
a. 360/S b. S/360 c. 360/(5+180) d. 360/(180-5) e. 360/(S-180)
30. Factor 2ax2+4ax+2a completely.
a. 2(ax2+2ax+a) b. 2a(x2+2x+l) c. 2a(x+l)2
d. 2ax(x+1)? e. 2ax(x%+2x+1)
31. Multiply and simplify: 6x2+x—35 4x2+2x
4x°-1 ax>+14x%+10x
a. 3x-7 b. 3x-7 c. 6x-14 d. -x(6x%+x-35)
2x2+x—1 2x2~x—l x(4x2+2x~2) 2x3+7x2+5x
e, ~3x+7
2X2+X*l
32. Add and Simplify: x’+6x-1 , _x+1
x2+6x—7 x2+6x~7
2 2
a. x +5x-2 b, 7x-2 ¢c. 1 d. X e. X +7x
%2467 6x-7 7 x-1 x4 +6x-7
33. Subtract: 3 _ 4
25-x%  x%-3x-10
a. -x-14 b. -1 c. _ Tx+26 d. ~1
x34+2x%-25x-50 ~3x+15 x342x%-25x-50 3x+35
e. =-7x+26
x3+2x2~25x—50
34. Simplify: x _ Y
D AR
i1
y %
a __xz~x2' b X+y o 1 d 0 e X+y
Xy X+y Xy



35,

36.

37,

38.

39.

40.

Solve for x: F5x+3,<'7
a. =2 X< 4/5 b. x<=20rx)4/5 ¢ x?20rx£~4/5 d. 2¢ x<-4/5

. ~4/5¢<x¢ 2

It takes Joe 16 hours to mow the lawns he has contracted for the
summer. However, if his younger brother Tom helps him, they can

mow the lawns in 10 hours. If Joe goes tc summer camp one
and Tom mows the lawns by himself, how long should it take
a. 6 hours, 9 minutes d. 13 hours

b. 22 hours e. 26 hours, 40 minutes

¢. 16 hours

Solve for x: 2x _ —3
x-4 x-13
- 3 €. X=2 Oor X= -6
a. x= ~12 or Xmml b. x= -4 or x==
2 2
= L=l e, x= -12 or x ==
d. x=12 or x= 5 5

Identify the guadratic function represented by the graph:

a. f(x) = x2—6x+8
b. £(x) = -x%+6x~10
c. f£(x) = —x°-6x+8
d. F(x) = x°+6x+10
e. f£(x) = -x°-6x-8

solve for x using the guadratic formula. Express your
answer in simplest radical form: 8x2+12x+1=0

week
him?

N112

a. -12 X Jd112 . -6FJ2s c. -3XJ7 d. -3%
i% 5 g
e, 3j-J3”
4

An 8 x 12 picture is to be framed in a frame of uniform width.
How wide is the frame if the area of the frame and the area of

the photo are equal?

a. 2" b. 1" c. 1 1,s2"  .d. 1/2" e. 2 1/2"
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